
1 k|=c x?sf] ;o'Qm j}7s 56 2 k^s 1 lbg 140750.00

2 sIff * sf] k/LIff ÷ cfwf/e't lzIff k/LIff 1 k^s 300000.00

3 cfwf/e't lzIff k/LIff u|]8 a[l4 2 k^s 15000.00

4 sIff #,% / * sf] pknAwL k/LIff 1 k^s 200000.00

5 lj=Jo=; cWoIfx?sf] cled'lvs/0f tflnd 50 1 k^s 1 lbg 75000.00

6 lg/Gt/ ljwfyL{ d'Nofªsg tflnd 60 1 k^s 1 lbg 100000.00 ;|f]ts]Gb| tx

7
lj=Jo=; sf k|ltlglwTj ug]{ dlxnf ;b:ox?nfO{ ljBfno 

zflGt If]q cjwf/0f ;DjlGw tflnd 50 1 k^s 1 lbg
75000.00

;|f]ts]Gb| tx

8 k|fylds lzIfs tflnd-cªu|]hL dfWod_ 50 1 k^s 3 lbg 220000.00 ;|f]ts]Gb| tx

9 ljBfno cg'udg,;+rf/ ,oftfoft vr{ 341750.00

10 ufpF lzIff ;ldlt j}7s 12 k^s 100000.00

11 ;|f]t s]Gb| :y/Lo cltl/Qm lqmofsnfk 80000.00 ;|f]ts]Gb| tx

12 jfnlasf; ljsf; s]Gb|sf ;xhstf{ tflnd 46 2 k^s 3 lbg 127500.00 ;|f]ts]Gb| tx

13 ljBfyL{ clen]lvs/0f ;DalGw tflnd 1 lbg 75000.00

14 sfof{no ;fdfu|L vl/b 50000.00

15 cjnf]sg e|d0f - k|fydLs tx _ 3 lbg 100000.00

hDdf 312 2000000.00

;+Vofkl/df0f O{sfO{

u08sL ufpFkflnsf

ufpFsfo{kflnsfsf] sfof{no

lzIff zfvf

e'lDnrf]s , uf]/vf

cf=j )&%÷)&^ sf] ah]6 sfo{qmd

ah]6 ? s}lkmotqm=;+ sfo{qmd ljj/0f -rfn' vr{_


